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Aufgaben-Quickname: 3911

Aufgabe 1
Quick:
3911

Wieviel ist...

a) 24
25 von 894 hl = 858 hl 24 l b) 16

20 von 571 hl = 456 hl 80 l

c) 68% von 858 t = 583 t 440 kg d) 0,5 Teile von 41 min = 20 min 30 s

e) 22% von 420 km = 92 km 400 m f) 1
4 von 581 d = 145 d 6 h

g) 0,9 Teile von 549 t = 494 t 100 kg h) 38
50 von 85 l = 64 l 600 ml

i) 50% von 530 m = 265 m j) 35
100 von 617 kg = 215 kg 950 g

Aufgabe 2
Quick:
3911

Wieviel ist...

a) 3
4 von 52 Cent = 39 Cent b) 1

2 von 84 Cent = 42 Cent

c) 62
100 von 949 Euro = 588 Euro 38 Cent

d) 30
50 von 831 Euro = 498 Euro 60 Cent e) 2

4 von 349 Euro = 174 Euro 50 Cent

f) 48% von 679 Euro = 325 Euro 92 Cent g) 2
20 von 690 Euro = 69 Euro

h) 50% von 920 Euro = 460 Euro i) 2
4 von 59 Euro = 29 Euro 50 Cent

j) 0,4 Teile von 676 Euro = 270 Euro 40 Cent

Aufgabe 3
Quick:
3911

Wieviel ist...

a) 38
50 von 7 l = 5 l 320 ml b) 10

20 von 36 cm2 = 18 cm2

c) 4
10 von 9 h = 3 h 36 min d) 3

5 von 51 m = 30 m 6 dm

e) 1
2 von 463 t = 231 t 500 kg f) 4

5 von 138 kg = 110 kg 400 g

g) 1
2 von 6 dm = 3 dm h) 1

2 von 826 g = 413 g

i) 14
25 von 1 dm = 5 cm 6 mm j) 3

4 von 899 kg = 674 kg 250 g

Aufgabe 4
Quick:
3911

Wieviel ist...

a) 24
50 von 59 l = 28 l 320 ml b) 1

2 von 792 ml = 396 ml

c) 3
4 von 120 hl = 90 hl d) 17

50 von 39 l = 13 l 260 ml
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e) 17
25 von 243 hl = 165 hl 24 l f) 5

10 von 52 l = 26 l g) 1
2 von 24 l = 12 l

h) 2
5 von 75 hl = 30 hl i) 1

10 von 42 l = 4 l 200 ml

j) 16
50 von 18 l = 5 l 760 ml

Viel Erfolg!
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